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1. For each statement below, determine whether the given statement is TRUE (i.e. always
true) or FALSE (z.e. not always true). Provide a short justification for your response.

[2 marks] (a) Let A and B be two n X n matrices. Then det(A + B) = det(A) + det(B).
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[2 marks] (b) Let A = [_2- 4

; 2] be a matrix. Then A = —3 is an eigenvalue of A.
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Find all steady state vectors of the Markov chain.
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[3marks] ' 2. Let P = [ ] be the transition matrix for a Markov chain with two states.
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[3marks] 3. Let A = [0 g 5j| be a 3 x 3 matrix. Compute the determinant of A.
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